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Introduction
In RAN4#108 meeting, most core requirements for R18 RedCap are settled down except one transition issue. This contribution provides the analysis on this open issue.
Discussion
Transition requirements
The left open issue is how to define requirement for the transition between short INACTIVE eDRX (≤10.24sec) and long INACTIVE eDRX(20.48sec) [1]. 
	Transition requirements
· Define requirement for the transition between short INACTIVE eDRX (≤10.24sec) and long INACTIVE eDRX (20.48sec) for at least the following cases
· Case 1: transition between short INACTIVE eDRX (≤10.24sec) and long INACTIVE eDRX(20.48sec) within same cell
· Case 2: UE moves from a cell that supports and configures Rel-18 INACTIVE eDRX to a cell that supports only Rel-17 INACTIVE eDRX and vice versa
FFS whether to reuse legacy requirements or introduce new requirements



In RAN2#122, RAN2 has the following agreements on UE fallback mechanism.
	We confirm the working assumption: UEs configured with Rel-18 enhanced INACTIVE eDRX should fall back to use Rel-17 INACTIVE eDRX (if capable and configured with Rel-17 INACTIVE eDRX) if the Rel-18 enhanced INACTIVE eDRX is not allowed but the Rel-17 INACTIVE eDRX is allowed by the current cell. gNB has the possibility to configure both Rel-17 INACTIVE eDRX and Rel-18 INACTIVE eDRX, allowing the UE to fall back to use Rel-17 INACTIVE eDRX. 
A UE configured with Rel-18 INACTIVE eDRX will fallback to use INACTIVE RAN DRX if it is either not configured with Rel-17 INACTIVE eDRX or the cell does not allow Rel-18 INACTIVE eDRX and Rel-17 INACTIVE eDRX.



For R17 RedCap, the following requirements are specified:
“For any requirement in this section, when the UE transitions between any two states when being configured with eDRX_IDLE, being configured with eDRX_IDLE cycle, changing eDRX_IDLE cycle length, or changing PTW configuration, the UE shall meet the transition requirement, which is the less stringent requirement of the two requirements corresponding to the first state and the second state, during the transition time interval which is the time corresponding to the transition requirement. After the transition time interval, the UE shall meet the requirement corresponding to the second state.”
Regarding the above two cases, when UE transits between short inactive eDRX (≤10.24sec) and long INACTIVE eDRX(20.48sec) for both in the same cell and between different cells, following the legacy principle, the UE shall meet the less stringent transition requirements corresponding to the first state and the second state. After the transition time interval, the UE shall meet the requirement corresponding to the second state.
Proposal 1: UE needs to satisfy the less stringent requirements for the transition between short INACTIVE eDRX (≤10.24sec) and long INACTIVE eDRX(>10.24s).
Conclusions
This contribution provides analysis on the leftover measurement requirements for RedCap UE when eDRX is configured. According to the analysis, we propose the following proposal:
Proposal 1: UE needs to satisfy the less stringent requirements for the transition between short INACTIVE eDRX (≤10.24sec) and long INACTIVE eDRX(>10.24s).
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